(a + b)?

= a” + 2ab + b?
o0 v yian 1 v yian n790n ovnys 7wy
(0"10'2 3 DDO) TNR 0™0An W Y0

P» v 4

(a-b)? = a’ - 2ab + b’
o042 Yo van 102 e vian n9in 0Ny e yan
(o™ Qe wan) NN D"oan e e e

Y1270 NUYY D'RNRN 0Tvan 2 NN gvo 'ma o .1

x2+ 16 (x — 4)? (x —4)x-—4) n

x-4
(x>4)
b-x
(0<x<6)
a-b
(a=b=>0)

(x—4)+(x —4) x* - 8x + 16

(6 = x)6 - x) 36 — x? (6-x) a
x2 - 12x + 36 36 + x*

(a—b)a-b) (a — b)? az-b? a
al+ b? a? - 2ab + b?

MWD DA 17 DT 1017 NNWRID IR 1o A g innn 2




(o'nin X771 om0 X79) 2onn nx nfwn 3

(2x -3 = -12x + A ( + P=x+6x+9 X
(o'nun X771 o0 X79) honn N mfwn 4
(x-2)- = 3x? - 6x 2 (x-2) - =5x-10 X
A (x-2)- =2-x 12
-y e - 2__1 4
(x-2) X X + x-2)- e e G

MINN97 NXNYA 2 Ij7 Innn IXn NT'Ra n'nAIaY 1779 ,NIRNYNN DR N9 .5

|nno niIxnwn
x=0J4 12 - 3}{ = 0
el 2x2 — 8x = 0
x=3
x2+4x =0
x=4
i x2-6x+9=0
x2—_8x+16=0
x=4
2x +3)2=0
X=-5
x= (x-52=0
x+52=0

lan?xna



